N = 0l & At & M A

20169 = S0l& LB H JIEISESH 4IHS
2N NS
MY NS A
& FUNXEE WASYE & BHAANE XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ATs 220,725 241,184 A 20,459
SIS AMSZHI 134,750 155,280 A20,530
FUNXMH W29 2 BEYAML X3 87,760 108,290 220,530
FOURMXNEEH 29 52,400 58,000 A5,600
201 L2l 49,400 57,000 AT,600
01 At 22l 49,400 57,000 A7,600
OFUXXNHH2H 3,400,000 3,400
OZA==¢ 37,000, 000& 37,000
Oogla=¢ 30,0003 25«12 9,000
301 LB A Z 3,000 1,000 2,000
09 #HALAHIZ &S 3,000 1,000 2,000
Of=FUXXISH As 100,000 «25H x13] 2,500
O2uga =gHs 500,000& 500
FOIEOAL XA 31,360 29,290 2,070
201 et 29,560 27,640 1,920
02 2324l 29,560 27,640 1,920
OFAMNRAIHANAHESAZ 275,000 128 3,300
OXt& Xl 5,000,000& 5,000
OFA dtY TAIJIARSZ 800,000 1204 & 9,600
O&F = &2yl 420,000& +3CH 1,260
OgdEIl |FXE=H 70,000 1204 & 840
OF AL HEEIAIAE S X 22l
600,000& »23] 1,200
OFAL A2FLHH 2|l 130,000& *123] 1,560
OF AL X 22l 5,000,000& 5,000
OsZJIs Xl 150,000& *123] 1,800
203 YR =&l 1,800 1,650 150
03 AIMZ=XH R =AY 1,800 1,650 150
OSZYRAHFA 1,800,000& 1,800
E2o%sH A4SH0l MEHS0l HAXKA 4,000 2,500 1,500
307 glz2+ol & 4,000 2,500 1,500
04 QIZFHALAIH E = 4,000 2,500 1,500
O22daxH &SE0l AE[L0l #AXRE
4,000,000& 4,000
SclEtEas=2Ey 46,990 46,990 0
ScltEEs24 NS 46,990 46,990 0
301 et d = 46,990 46,990 0
05 S& -0 -2 46,990 46,990 0
Os&E=+ 200,000& x13H «x12& 31,200




2 ATH
o AT

o
oo Sl

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OS&EAN3 200,000 x13H «23] 5,200
OS&Ig&EAxG 20,0003 *13H x12& 23] 6,240
OBtE & S| 50,000& *87H 13| 4,350
HMSHAH (MATHSE) 85,975 85,904 71
olaadH|(AlS) 32,195 30,408 1,787
XNMOIAHH| (A S) 32,195 30,408 1,787
101 2124 4| 32,195 30,408 1,787
03 2IAHALZZXHE = 32,195 30,408 1,787
OF AN YEE 32,195
23 1,167, 750& x 18~ 12& 14,013
-A03 1,167,750 ~ 1 4 & 4,671
-A 2 =& 9,940 *1H *22A| 2tx12& 2,625
-5222x 79,6003 1 22 x12& 1,911
=54 53,0703 *1H *52= 2,760
AR assg 53,070& x1¥ «10 531
s 20,000& x5H x12& 1,200
~HHZAH| 80,000& x1H x12& 960
-WE B X 60,000& *1H x12& 720
===l sl 1,167, 750& *2& *60% 1,402
SR = 1,167,750& «12& x10% 1,402
J2HLH(MTHS) 53,780 55,496 AN1,716
Jl2ddl(4Hs) 53,780 55,496 N1,716
201 et A | 26,500 26,416 84
01 At 22l bl 9,500 9,416 84
OBAd&IA222H| 9,500,000 9,500
02 33249l 17,000 17,000 0
OdIIe=2 12,000,000& 12,000
Oatete==22 1,500, 000& 1,500
oERe= 3,500,000& 3,500
202 04 d| 16,960 16,960 0
01 2L Y| 16,960 16,960 0
SHYRLHN Y| 1,600, 000& 1,600
OJle4+sidl(8Y) 15,360,000& 15,360
203 & R = &4 9,920 9,920 0
01 J|22H L R=AH| 6,600 6,600 0
OJ|E2gg =8| 6,600,000 6,600
02 BRI YR2FAH| 320 320 0
OFJIMAtE R =R 40,000& *8H 320
04 2SI L RF=AH| 3,000 3,000 0
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